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It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
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Part 1 — General marking guidance for GCSE MFL Writing Tests
Level of response marking instructions

Level of response mark schemes are broken down into levels, each of which has a descriptor. The
descriptor for the level shows the average performance for the level. There are marks in each level.

Step 1 Determine a level

Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the
descriptor for that level. The descriptor for the level indicates the different qualities that might be seen in
the student’s answer for that level. If it meets the lowest level then go to the next one and decide if it
meets this level, and so on, until you have a match between the level descriptor and the answer. With
practice and familiarity you will find that for better answers you will be able to quickly skip through the
lower levels of the mark scheme.

When assigning a level you should look at the overall quality of the answer and not look to pick holes in
small and specific parts of the answer where the student has not performed quite as well as the rest. If
the answer covers different aspects of different levels of the mark scheme you should use a best fit
approach for defining the level and then use the variability of the response to help decide the mark within
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content.

Step 2 Determine a mark

Once you have assigned a level you need to decide on the mark. The descriptors on how to allocate
marks can help with this. The exemplar materials used during standardisation will help. There will be an
answer in the standardising materials which will correspond with each level of the mark scheme. This
answer will have been awarded a mark by the Lead Examiner. You can compare the student’s answer
with the example to determine if it is the same standard, better or worse than the example. You can then
use this to allocate a mark for the answer based on the Lead Examiner’'s mark on the example.

You may well need to go back through the answer as you apply the mark scheme to clarify points and
assure yourself that the level and the mark are appropriate.

Indicative content in the mark scheme is provided as a guide for examiners. It is not intended to be
exhaustive and you must credit other valid points. Students do not have to cover all of the points
mentioned in the Indicative content to reach the highest level of the mark scheme.

An answer which contains nothing of relevance to the question must be awarded no marks.
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Marks will be allocated in the following way at Higher Tier:

Content | Quality of | Range of | Accuracy | Conveying | Application of | Total
language | language key grammatical
messages | knowledge of
language and

structures
Question 1 10 6 16
Question 2 15 12 5 32
Question 3 6 6 12
Total 25 6 12 5 6 6 60

Higher Question 1/Foundation Question 4
10 marks for Content + 6 marks for Quality of language (16 marks in total).

Candidates write approximately 90 words in total about four different bullet points. All bullet points must
be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an

appropriate mark within a mark range.

The question is marked for Content and for Quality of language, according to the following criteria

(NOTE THAT THESE CRITERIA ARE DIFFERENT FROM FOUNDATION QUESTION 2):

Content

Marks | Response

A very good response covering all aspects of the task. Communication is clear and a lot

9-10 of information is conveyed. Opinions are expressed.

A good response covering all aspects of the task. Communication is mostly clear but
7-8 perhaps with occasional lapses. Quite a lot of information is conveyed. Opinions are
expressed.

A reasonable response covering almost all aspects of the task. Communication is
5-6 generally clear but there are likely to be lapses. Some information is conveyed. An
opinion is expressed.

A basic response covering some aspects of the task. Communication is sometimes clear
3-4 but there are instances where messages break down. Little information is conveyed. An
opinion is expressed.

A limited response covering some aspects of the task. Communication is often not clear
1-2 and there may be frequent instances where messages break down. Very little
information is conveyed. There may be no opinions expressed.

0 The content does not meet the standard required for a mark at this tier.
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The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant in the broadest sense must be ignored when awarding the mark for Content.

¢ A minimum number of bullet points must be covered for the award of marks for Content, as follows:

o 7-10 marks: 4 bullet points
o 5-6 marks: 3 bullet points
o 3—-4 marks: 2 bullet points
o 1-2 marks: 1 bullet point

The information that the candidate gives must be clear. If what is written is unclear, this will have a
bearing on the mark for Content. For example, the candidate may convey information in relation to all
four bullet points, but lapses in clarity may mean that a mark lower than the 7-10 band is more
appropriate. The more lapses in clarity that there are, the lower the mark is likely to be. All of the
information that a candidate attempts to give in relation to a particular bullet point may be
unintelligible, in which case that bullet point will not have been covered, meaning that the maximum
mark will be 6.

¢ You must accept any information which is a plausible response to the bullet point, even if it does not
explicitly mention, for instance, a time or place. For example, if the bullet asks what the candidate did
last weekend, and he/she writes ‘I went to see my grandparents and then went to a theme park’, this
can feasibly be an account of what happened last weekend, even though ‘last weekend’ is not
mentioned. Equally, if the student is asked to say what he/she does on a typical visit to a shopping
centre and they write ‘I bought some clothes and went to see a film’, this is also an acceptable
fulfilment of the task, even though ‘shopping centre’ is not mentioned.

¢ The bands refer to the amount of information that is conveyed, as follows:

9-10: a lot
7-8 quite a lot
5-6: some
3-4 little

1-2 very little

All of these have to be considered with reference to the suggested number of words, which is
approximately 90. In other words, a candidate who writes approximately 90 words, clearly
understandable and relevant to all four bullet points, will be able to achieve 10 marks, provided the
other criteria are met. Conversely, a candidate may write much more than 90 words, but the language
is so inaccurate that little or very little information is conveyed successfully and the mark will be much
lower. If a candidate writes considerably fewer than 90 words, ‘a lot of information’ will not be
conveyed.

e The candidate must give opinions in order to have access to certain marks, as follows:

7-10: two opinions
3-6: one opinion

This is not an automatic mark and the other criteria within a particular band must be met. If there is no
opinion, the maximum mark is 2. An opinion may be expressed simply, for example: ‘I like going
shopping’. Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an opinion. A
neutral or descriptive adjective is only classed as an opinion if it is preceded by something like ‘I think
that’. For example: ‘| think that my town is big’.




MARK SCHEME — GCSE MODERN HEBREW — 8678/WH — JUNE 2021

Quality of language

Marks | Response

A variety of appropriate vocabulary is used. Complex structures and sentences are
attempted. There are references to three time frames, which are largely successful.
5-6 Errors are mainly minor. Some more serious errors may occur, particularly in complex
structures and sentences, but the intended meaning is nearly always clear. The style
and register are appropriate.

Some variety of appropriate vocabulary is used. There may be some attempt at
complex structures and sentences. There are references to at least two different time
frames, although these may not always be successful. There may be some major
errors, and more frequent minor errors, but overall the response is more accurate than
inaccurate and the intended meaning is usually clear. The style and register may not
always be appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to the needs of
the task. Sentences are mainly short and simple or may not be properly constructed.
There may be frequent major and minor errors. Little or no awareness of style and
register.

0 The language produced does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Quality of language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and
decide on the mark for Quality of language. A mark of 0 for Content automatically results in a mark of O
for Quality of language but, apart from that, the Content mark does not limit the mark for Quality of
language. However, a short piece is unlikely to demonstrate sufficient variety for a high mark for Quality
of language.

e Each band has five strands: variety of vocabulary; complexity of structures and sentences; reference
to time frames; accuracy of the language; style and register. Sometimes it will be necessary to adopt
a ‘best fit’ approach, because the five strands will not be consistently demonstrated. Whether it is the
top or bottom mark in the band will depend on whether the criteria are nearer to those of the band
above or below.

¢ In order to score in the 5-6 band, there must be reference to all three time frames (past, present and
future). For the 3—4 band, there must be reference to at least two time frames. Reference to a
particular time frame may be demonstrated with one example. The verb used to refer to a particular
time frame need not be totally correct, provided the message is clear. These marks are not awarded
automatically and the other criteria in the band are equally important. Notice that references are to
time frames, not tenses. So, for example, the present tense usage in the following sentence is a
reference to a future time frame: ‘I'm going to the concert next week'’.

¢ When considering the complexity of the language, you should bear in mind that a) this is the overlap
question and is attempted by both Foundation and Higher candidates; b) that the criteria for Quality of
language in this question are not as demanding as the language criteria for Higher Question 2.
However, for a mark of 5 or 6, complex structures and sentences are attempted. They may not
always be successful and this may lead to serious errors because of the complexity of the structure or
sentence which the candidate attempts. Complexity may be shown in some of the following ways:
different tenses; intensifiers; time markers; connectives; subordinate clauses; infinitive constructions.
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¢ This should not be seen as a ‘tick list’, but rather as an indication of the definition of complexity at
GCSE level.

¢ The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there is no
need to penalise the candidate merely for that. It may, however, be a contributory factor in the award
of the overall mark if there are other weaknesses. There is no requirement for candidates to present
their piece of writing in a particular way because of the context, eg a blog or email does not need to
look like a blog or email. It is the content which is to be marked.

Higher Question 2
15 marks for Content + 12 marks for Range of Language + 5 marks for Accuracy (32 marks in total).

Candidates write approximately 150 words in total about two different bullet points. Both bullet points
must be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an
appropriate mark within a mark range.

The question is marked for Content, for Range of Language and for Accuracy, according to the following
criteria:

Content

Marks | Response

An excellent response which is fully relevant and detailed, conveying a lot of
13-15 | information. Communication is clear with little or no ambiguity. Opinions are
expressed and justified.

A very good response which is almost always relevant and which conveys a lot of
10-12 | information. Communication is mostly clear but there are a few ambiguities. Opinions
are expressed and justified.

A good response which is generally relevant with quite a lot of information conveyed.
7-9 Communication is usually clear but there are some ambiguities. Opinions are
expressed and may be justified.

A reasonable response with some relevant information conveyed. Communication is
4-6 sometimes clear but there may be instances where messages break down. An
opinion is expressed.

A basic response which conveys a limited amount of relevant information.
1-3 Communication may not be clear and there are instances where messages break
down. An opinion may be expressed.

0 The content does not meet the standard required for a mark at this tier.

The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant must be ignored when awarding the mark for Content.
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However, as the bullet points are much more open-ended, there is scope for candidates to include
information which is still relevant but not in direct response to a bullet point. For example, when
addressing a bullet point requiring a response about a memorable holiday, candidates may refer to
where they might go on a future holiday. Any information which cannot be deemed at all relevant must
be ignored when awarding the mark for Content.

As with the overlap question, you must accept, as an accomplishment of the task, any plausible
response to a bullet point, even if an element such as time or place are missing.

e |n order to score a mark of 13 or more for Content, both bullet points must be covered. However,
there is no requirement for an equal coverage of both bullet points.

¢ A candidate who conveys information in relation to one bullet point only can score a maximum of 12
marks for Content.

¢ Provided at least some coverage of both bullet points is evident, candidates will have access to full
marks where the other criteria are met.

e The bands refer to the amount of information that is conveyed, as follows:

13-15: alot

10-12: a lot

7-9: quite a lot

4-6: some

1-3: a limited
amount

All of these have to be considered with reference to the recommended number of words, which is
approximately 150. In other words, a candidate who writes approximately 150 words, clearly
understandable and relevant to both bullet points, will be able to achieve 15 marks provided the other
criteria are met. Conversely, a candidate may write much more than 150 words, but the language is
so inaccurate that only a limited amount of information is conveyed successfully. If a candidate writes
considerably fewer than 150 words, ‘a lot of information’ will not be conveyed.

e The candidate must give and justify opinions in order to have access to certain marks, as follows:

10-15: at least two opinions are expressed and justified
7-9: at least two opinions are expressed
4-6: at least one opinion is expressed

This is not an automatic mark and the other criteria within a particular band must be met. If there is no
opinion, the maximum mark is 3. An opinion may be expressed simply, for example: ‘I like going
shopping’. Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an opinion or a
justification of an opinion. A neutral or descriptive adjective is only classed as an opinion or a
justification if it is preceded by something like ‘I think that’. For example: ‘| think that my town is big’
(opinion); or a neutral adjective can be given as a justification of an opinion: ‘I like my town because it
is big’ (opinion + justification).

e Once the correct band has been decided upon, the middle mark in the band will be given to a
candidate whose writing fits the band well. If the band above was a consideration, then award the
higher of the three marks; if the band below was a consideration, then award the lower of the three
marks.
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Range of language

Marks | Responses

Very good variety of appropriate vocabulary and structures. More complex sentences
10-12 | are handled with confidence, producing a fluent piece of coherent writing. The style and
register are appropriate.

Good variety of appropriate vocabulary and structures. More complex sentences are
7-9 regularly attempted and are mostly successful, producing a mainly fluent piece of
coherent writing with occasional lapses. The style and register are appropriate.

Some variety of appropriate vocabulary and structures. Longer sentences are attempted,
4-6 using appropriate linking words, often successfully. The style and register may not
always be appropriate.

Little variety of appropriate vocabulary. Structures are likely to be short and simple.
Little or no awareness of style and register.

The range of language produced does not meet the standard required for a mark at this
tier.

The whole of the response must be assessed when awarding the mark for Range of language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and
decide on the mark for Range of language and for Accuracy. A mark of O for Content automatically
results in a mark of O for Range of language but, apart from that, the Content mark does not limit the
Range of language mark. However, a short piece is unlikely to show sufficient variety for a high mark for
Range of language.

Each band has five strands: variety of vocabulary; variety of structures; complexity of sentences;
fluency of the writing; style and register. For a mark of 12, there will be good evidence that the criteria
for all five strands have been met comfortably. Sometimes it will be necessary to adopt a ‘best fit’
approach, because the five strands will not be consistently demonstrated. Once the correct band has
been decided upon, the middle mark in the band will be given to a candidate whose writing fits the
band well. If the band above was a consideration, then award the higher of the three marks; if the
band below was a consideration, then award the lower of the three marks.

There must be more complex sentences for the candidate to score 7 marks or more. For a mark in the
10-12 band, the complex sentences are produced confidently, with few errors in structure; for a mark
in the 7-9 band, the attempts at complex sentences are mostly successful. Complex sentences may
be formed in some of the following ways across the languages: use of subordinate clauses; use of
relative clauses; use of infinitive constructions; the use of object pronouns within a sentence to lend
greater fluency. This should not be seen as a ‘tick list’, but rather as an indication of the definition of
complexity at GCSE level.

The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there is no
need to penalise the candidate merely for that. It may, however, be a contributory factor in the award
of the overall mark if there are other weaknesses.
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¢ There is no requirement for candidates to present their piece of writing in a particular way because of
the context, eg a blog or email does not need to look like a blog or email. It is the content which is to
be marked.

Accuracy
Marks | Response

5 Accurate, although there may be a few errors especially in attempts at more complex
structures. Verbs and tense formations are secure.

4 Generally accurate. Some minor errors. Occasional major errors, usually in attempts at
more complex structures. Verbs and tense formations are nearly always correct.

3 Reasonably accurate. There are likely to be minor errors and there may be some major
errors, not only in complex structures. Verb and tense formations are usually correct.

5 More accurate than inaccurate. The intended meaning is generally clear. Verb and
tense formations are sometimes correct.

1 There may be major errors and frequent minor ones, and the intended meaning is not
always clear. There is only limited success with verb and tense formations.

0 The accuracy does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Accuracy, even if some of it is
irrelevant to the bullet points.

A mark of 0 for Content automatically results in a mark of 0 for Accuracy but, apart from that, the Content
mark does not limit the Accuracy mark. However, a short piece is unlikely to show sufficient evidence for
a very high mark for Accuracy.

e For the award of 5 marks, the writing need not be perfectly accurate. There may be errors in attempts
at more complex language and the occasional minor error, but these will be infrequent. A minor error
is one which has no bearing on communication (for example, incorrect gender), whereas a major error
is one where communication is affected.

e For a piece of writing that contains a good number of errors, a useful starting point will be to decide
whether overall it is more accurate than inaccurate. If it is, then the minimum mark will be 2.

e A major consideration in awarding marks for accuracy is correctly formed verbs and tense formations.
All verbs and tense formations should be considered here but as there are only two bullet points in this
question, only two time frames will be elicited. While some candidates will develop their ideas and, in
so doing, use a third time frame and different tenses, there is not the same requirement as there in in
Foundation Question 4/Higher Question 1 to refer to all three time frames.

Higher Question 3

6 marks for Conveying key messages + 6 marks for Application of grammatical knowledge of language
and structures (12 marks in total).

Candidates translate into the target language a passage in English, totalling at least 50 words. The
translation is marked for Conveying key messages and for Application of grammatical knowledge of
language and structures, according to the following criteria:

10
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Conveying key messages

Marks | Response

6 All key messages are conveyed.

5 Nearly all key messages are conveyed.
4 Most key messages are conveyed.

3 Some key messages are conveyed.

2 Few key messages are conveyed.

1 Very few key messages are conveyed.

The content does not meet the standard
required for level 1 at this tier.

The translation is divided into 13 key messages. A tick will be awarded for each key message that is
communicated, despite any minor inaccuracies. The total number of ticks awarded equates to a mark
according to this table:

Total ticks Mark
13 6
11/12
8/9/10
5/6/7
3/4
1/2

RN |W |~ O

When deciding on whether a key message is conveyed, you should ask yourself the question: ‘Would a
native speaker understand the target language version without reference to the original English?’ If the
answer is ‘yes’, award a tick.

Application of grammatical knowledge of language and structures

Marks | Response

6 Excellent knowledge of vocabulary and structures; virtually faultless.

5 Very good knowledge of vocabulary and structures; highly accurate.

4 Good knowledge of vocabulary and structures; generally accurate.

3 Reasonable knowledge of vocabulary and structures; more accurate than inaccurate.
2 Limited knowledge of vocabulary and structures; generally inaccurate.

1 Very limited knowledge of vocabulary and structures; highly inaccurate.

0 The language produced does not meet the standard required for Level 1 at this tier.

11
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Once you have decided on the mark for Conveying key messages, you should read through the
translation once more and decide on the mark for Application of grammatical knowledge of language and
structures.

This mark is not limited by the Conveying key messages mark, unless the mark for Conveying key
messages is 0, in which case the mark for Application of grammatical knowledge of language and
structures must also be O.

There is no direct correlation between the two marks, but your first thought should be to see if the
same mark is appropriate. For example, a candidate may have been given 7 ticks and you have
awarded a mark of 4 for Conveying key messages. You may have had to hesitate when deciding on
one of the ticks but just decided against it. This may then encourage you to give a mark of 5, rather
than 4, for Application of grammatical knowledge of language and structures.

If a candidate leaves gaps, you must assume that any attempt would have been highly inaccurate and
award a mark accordingly. Not to do so will penalise unfairly those candidates who make an attempt
but commit serious errors in so doing.

Perfection is not required for full marks. For example, occasional missing accents and minor spelling
errors do not preclude a top band mark. However, if there are numerous minor errors and incorrect
use of accents which change the meaning of a word, this is likely to have an impact on the mark for
Application of grammatical knowledge of language and structures.

12
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Appendix 1
Notes on the use of language

The following notes are a guide to the kind of language that may help to fulfil the criteria for higher bands
of marks in the Quality of Language and Range of Language categories. They should not be seen as a
checklist.

Variety of vocabulary
Consider particularly:

e use of synonyms, eg no1yn/9Tyn NN rather than just namn namn IR, MNIY D9/ wan rather than
just v, 917 ,n9o etc, rather than just 2.
o different persons of the verb.

¢ use of more sophisticated vocabulary — though the emphasis is on avoiding a lot of conspicuous
repetition.

Variety of structures
Consider, for example:

¢ use of infinitive constructions followed by prepositions (5y 21575 ,2 y1035), adjectives (187 'N715,5 2wn),
and after verbs (5 0»amx ¥NIN 9 N95Y N TYNR/PTYN AN and ...5 Mpn...5 nxn)

use of object pronouns

use of indefinite pronouns/adijectives such as, 53,50wn,nwn etc

use of connectives such as ...71a5n...7v....YKRA....D) NIN....]P7 N

use of adverbs and adverbial phrases such as Yyn 119 ,5vnY ANt DY NNT Y52
use of negatives (x5 N 89 715 etc)

use of comparative expressions (..n 9n»/mn9)

use of demonstrative adjectives and pronouns (n5xn, nxy 0t etc)

use of possessive pronouns (v 5 etc)

use of superlative adjective (2ywn 51,210 »n,3011... etc)

use of complex sentences and a range of tenses.

Use of complex/longer sentences
Consider:

¢ use of subordinate clauses introduced by eg ...w>75...w »91 > 18,9951 ,7WND etc
¢ use of relative clauses introduced by ..n mns (89),..n 1N (ND) etc

and, when considering use of longer sentences:

¢ use of co-ordinating conjunctions: 5ax 2 38 ,7o.

13
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Use of time frames/tenses

e The criteria for Quality of Language in Foundation Question 4/Higher Question 1 include ‘references to
two/three time frames’. If a candidate refers to three time frames, it may well be through different
tenses, but equally it could be through the use of the infinitive to indicate an intension for the future:

2 PN N YA (future)

e The criteria for Accuracy in Higher Question 2 refer to ‘tense formations’. In this question, a candidate
can impress by showing that he/she can use a good range of tenses, thereby adding to the range and

complexity of language.

14
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Appendix 2

A glossary of terms used in the Writing assessment criteria

NB This alphabetical list corresponds to all questions on both Foundation and Higher papers.

A problem with immediate communication caused by grammatical

ambiguity inaccuracy or a contradiction (eg ‘l love it because it’s boring’).
appropriate Language which is suitable for the requirements of the task.
coherent Language which is easy to follow with a logical sequencing of ideas.

See ‘fluent’.

complex sentences

Sentences which contain a subordinate clause or clauses.
See Appendix 1 for examples.

complex structures

See Appendix 1 for examples.

confidence

Accurate use of language.

delay in communication

A problem with immediate communication caused by grammatical or
lexical inaccuracy.

fluent

Language which is easy to follow with a logical sequencing of ideas.
See ‘coherent’.

grammatical structures

Structures which are listed in the specification.

justified

The reason for holding a stated opinion.

key messages

With reference to the translation questions on both papers, these are
the key messages as identified in the mark scheme.

lapses

A problem with communication caused by grammatical inaccuracy

linking words

Words such as Yax, », used to create longer sentences.

longer sentences

These may be complex, with more difficult subordinations, or more
simple through the use of linking words.

major errors

Errors which impair communication.

minor errors

Errors which do not have a bearing on communication.

A positive/negative verb or adjective used to give an opinion; or a

opinions neutral adjective, such as ‘big’, preceded by something like ‘I think
that’. For example ‘I think that my bedroom is very small’.

secure Accurate.

structures See ‘grammatical structures’.

style and register

The style of writing. Usually this will be determined by the nature of
the task, requiring informal or formal register.

The use of tenses, with or without time markers, which refer to past,

time frames present or future events. A present tense may be a future or past time
frame.
, Use of different verbs’ nouns and adjectives which avoid a lot of
variety

conspicuous repetition.

15
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Part 2 — Marking guidance for June 2021 series

Question 01

For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 90 words for this task. The number of words is
approximate and you must mark all work produced by the student.

[16 marks]
Content
Level | Marks | Response
5 9-10 | A very good response covering all aspects of the task. Communication is clear
and a lot of information is conveyed. Opinions are expressed.
4 7-8 | A good response covering all aspects of the task. Communication is mostly

clear but perhaps with occasional lapses. Quite a lot of information is
conveyed. Opinions are expressed.

3 5-6 | Areasonable response covering almost all aspects of the task.
Communication is generally clear but there are likely to be lapses. Some
information is conveyed. An opinion is expressed.

2 3—-4 | A basic response covering some aspects of the task. Communication is
sometimes clear but there are instances where messages break down. Little
information is conveyed. An opinion is expressed.

1 1-2 | Alimited response covering some aspects of the task. Communication is often
not clear and there may be frequent instances where messages break down.
Very little information is conveyed. There may be no opinions expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the
other criteria are met.
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Quality of language

Level

Marks

Response

3

56

A variety of appropriate vocabulary is used. Complex structures and sentences
are attempted. There are references to three time frames, which are largely
successful. Errors are mainly minor. Some more serious errors may occur,
particularly in complex structures and sentences, but the intended meaning is
nearly always clear. The style and register are appropriate.

Some variety of appropriate vocabulary is used. There may be some attempt
at complex structures and sentences. There are references to at least two
different time frames, although these may not always be successful. There
may be some major errors, and more frequent minor errors, but overall the
response is more accurate than inaccurate and the intended meaning is usually
clear. The style and register may not always be appropriate.

1-2

The range of vocabulary may be narrow, repetitive and/or inappropriate to the
needs of the task. Sentences are mainly short and simple or may not be
properly constructed. There may be frequent major and minor errors. Little or
no awareness of style and register.

The language produced does not meet the standard required for Level 1 at this
tier.

Notes

(a) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language.
Apart from that, the Content mark does not limit the mark for Quality of language.

General rule for this question:

¢ the use of an infinitive in place of a finite verb is acceptable for conveying a message. It would not,
however, count as a reference to a present/past/future event (ie no annotation of Pr/P/F).
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Question 01.1 Content

Bullet Comments

Any aspect of school can be discussed.
DYV 190N M2 1V XY W W NN | From teachers to uniform or school
lunches. Students must avoid writing
about any of the bullet points that are
following ie — subjects or rules.

D25V 190N M2 OWHON YY DONYT | Pupils can include suggestions for
changes to rules.

92y32 ONANN ROV MINPN | This must refer to past tense. Lack of
tenses will be reflected in the mark
awarded for Quality of language.

Pupils can choose any subject as long
as they didn’t write about it already in
Bullet point 1.They can discuss the same
subiject if it will be discussed in different
tenses in each bullet points.

Must be answered in future tense, failing
TNy 01NINY YTION PN | to do that will be reflected on the mark
awarded for Quality of language.

Writing ‘ | do not know’ is not enough
and will not award the pupil any mark for
content.
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Question 01.2 Content

Bullet

Comments

D120 DY NYAN DY MNION NMNIN®

Can be compared to holiday with family/
parents but not necessary as pupils can choose
to speak only about holiday with friends.

DRIV IN MIDNINI NWAIN PTY NN

Pupils can either talk about one location in
definite or choose to talk about the advantages
and disadvantages of each place separately.

INAN 9NN NYHN NN MDD ININ NN

Writing ‘l don’t know’ will not be accepted.
Writing ‘l am not sure but...” — Is fine.

DOV NNINNN NYOINA 1NN

Can include either a description of the hotel or
services (or both) Talking about services will
provided an opportunity to higher level content.

Question 01.3 Content

Bullet

Comments

23, ©MHNN IR MND DXANMN DNN NN
ONIIN

There must be some reference to hotel/home
even if they chose to write about one only.

N MHNINA OXNNIN DY NNION NN

Must include both advantages and

disadvantages as this is what required in the
bullet point.

Future tense must be used. Otherwise that will
be reflected in their marks for quality of
language.

Past tense must be used. Otherwise that will be
reflected in their marks for quality of language.
They can choose to write about any festival
even the one from the previous bullet point as
long as they answer in past tense.

NI NDION HN DX NN ININ NN

92Y2 DINNY TN1ND N

The following indicative content is an example of the response that students may give to this question.
It demonstrates a balanced coverage of the compulsory bullet points.

Either | Question

01.1

This is a possible response (indicative content):

DN .02'I¥A DNINN D '7W 1900 N NK ANIK TR AR L K7 w1900 na
.01V D"I'Y] D'ANANN NN JIAYIY DARITIE Q10 DT

JIP05N nynn? nxM Mmvn D MY I YD TN 'RY 720 TRN

.77 1701 X7 0inni 0N DY N vy DTN 0770 "2 0 TRn DN o't
7Y 0'TIAN DX WIA77 2NIX IR 7DT'NR TYIRYN WYY 1Y NN fan X7 IR AR
.0'NI NI’ DN

Y'Y 7D .0nywn 3 75 ' MmN 1D L,NMAINT 'MANK X7 NNAVY vl

2V TN TN 2wl 7w 2100 1NN DY DINANY? TIN%7 ¥R TNy T
XWID 72 2V DX DMID'0 2IMDKX D -ONK .niNn

(102 words)
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or

or

[16 marks]

Question
01.2

This is a possible response (indicative content):

NYIY NI55Y NIV VNAD NMDPYI MVYD DXANIN NX 7NN TRN DIIN DY NYNN
VYD 9 19 1NN DNNNY YD NNV INN

MPNRT NN NN NAYN NN NIATH MIN D YNNI YN N TYN MIN TAN T8N
DTN MZAY NAMN MINY OV NNAWN 12979 ¥ YD DRIV YN PTYN IV T8N
N>I2 VD DT IOV 1IN OPO NYYRN .INYI MDY NNIN NININ 9NN NYOINI
Npra)a)!

1)) .0XNNINIY DDV PN OXITNN . JPTNTLNVST 7 NON NINRYI NNINKD IYIINI
YION ITNY DN TNHD DIOYV N HDIND MINYD NAMIN N ¥ NYN NP2 TRN
2NYNNY YN XY IMND N

(95 words)

[16 marks]

Question
01.3

This is a possible response (indicative content):

.0"aN 2NIX TNN "X

29 DaNENl NNSWNN 0OV N2 D'AN A1AN7 2NN D0 X

NT 'MYT? DT D'WIR OV D'2AAIN |72 N2 .00 DVIRDTE DY D0 MY XX 7Y DIRN
.nn x7

['R TWUKD .N1"IYN T'AN N7IWN 2120 NN'WN D ANN NINNKNA D'NNIX DR2NIR TN 1NN
. VANN 7Y WMy 0y 0NN ,oniInni 0D 1NIX 0Mys? 0NN 17

NIDIO O'XIN 2NN 72 TNI'M 7RWI NDION AN 787 Y1017 n¥IX X2 NIDION aN2
TN NTNIM 71102 01D NdMAl

7'N2 77 122201 D'NIXR 'R 170" X7 TITan 7722 TN 0 12VY oSN an

D'72XN 117K NANPN NNDYWAN "2 NNAN DX )11Yn7 1T .NNxXnixnn nnswnn
.N7wn XnRY DTN

(105 words)

[16 marks]
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Question 02

For this question there are two compulsory bullet points, which are assessed for Content (15 marks),
Range of language (12 marks) and Accuracy (5 marks), as specified in the criteria below. The
maximum mark is 32. The student is expected to produce approximately 150 words over the whole
guestion. The number of words is approximate and you must mark all work produced by the student.

[32 marks]
Content
Level | Marks | Response
5 13-15 | An excellent response which is fully relevant and detailed, conveying a lot of

information. Communication is clear with little or no ambiguity. Opinions are
expressed and justified.

4 10-12 | A very good response which is almost always relevant and which conveys a lot
of information. Communication is mostly clear but there are a few ambiguities.
Opinions are expressed and justified.

3 7-9 | A good response which is generally relevant with quite a lot of information
conveyed. Communication is usually clear but there are some ambiguities.
Opinions are expressed and may be justified.

2 4-6 | A reasonable response with some relevant information conveyed.
Communication is sometimes clear but there may be instances where
messages break down. An opinion is expressed.

1 1-3 | A basic response which conveys a limited amount of relevant information.
Communication may not be clear and there are instances where messages
break down. An opinion may be expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the two compulsory bullet points but, provided at
least some coverage of both bullet points is evident, students will have access to full marks where the
other criteria are met.
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Range of language

Level | Marks | Response
Very good variety of appropriate vocabulary and structures. More complex

4 10-12 . . . .
sentences are handled with confidence, producing a fluent piece of coherent
writing. The style and register are appropriate.

3 7_9 Good variety of appropriate vocabulary and structures. More complex
sentences are regularly attempted and are mostly successful, producing a
mainly fluent piece of coherent writing with occasional lapses. The style and
register are appropriate.

Some variety of appropriate vocabulary and structures. Longer sentences are

2 4-6 . i S
attempted, using appropriate linking words, often successfully. The style and
register may not always be appropriate.

1 1-3 Little variety of appropriate vocabulary. Structures are likely to be short and
simple. Little or no awareness of style and register.

0 0 The range of language produced does not meet the standard required for Level
1 at this tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Range of language. Apart from
that, the Content mark does not limit the mark for Range of language.

Accuracy
Level | Marks | Response

5 5 Accurate, although there may be a few errors especially in attempts at more
complex structures. Verbs and tense formations are secure.

4 4 Generally accurate. Some minor errors. Occasional major errors, usually in
attempts at more complex structures. Verbs and tense formations are nearly
always correct.

3 3 Reasonably accurate. There are likely to be minor errors and there may be
some major errors, not only in complex structures. Verb and tense formations
are usually correct.

2 2 More accurate than inaccurate. The intended meaning is generally clear. Verb
and tense formations are sometimes correct.

1 1 There may be major errors and frequent minor ones, and the intended meaning
is not always clear. There is only limited success with verb and tense
formations.

0 0 The accuracy does not meet the standard required for Level 1 at this tier.

Notes

(a) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Accuracy. Apart from
that, the Content mark does not limit the mark for Accuracy.
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General rule for this question:

¢ the use of an infinitive in place of a finite verb is not acceptable for conveying a message.

Question 02.1 Content

Bullet

Comments

PYN D2 OINIY) DY MNION NN

Both advantages and disadvantages must be
included as indicated clearly in the bullet point.

772N /972N DY 72YA T MNY 227 IN MODN
MNN/NN DY IN

Must include reason for fight/argument.

Question 02.2 Content

Bullet

Comments

DYV YA NADN MIN DY NYYa

Can include any problems, must include
opinions.

TXNYA 122200 MON DY NINY

Some ideas from bullet point above may be
overlapping but must be written in future tense
in order to be awarded a good amount of marks
for content.

Question 02.3 Content

Bullet

Comments

DONYTY N2V NTHIAY

Any job will be good. Can choose to discuss the
difficulty/ disadvantages of the specific job
chosen.

NIN2 NIV NTIAY DY NINIONY NN
TNYA XNIND

Must include advantages and disadvantages as
bullet point requires. Failure to do so will be
reflected in marks given for content.

Must use verbs in future tense.

The following indicative content is an example of the response that students may give to this question.

It demonstrates a balanced coverage of the compulsory bullet points.

Either | Question
02.1

This is a possible response (indicative content):
2'WY 7120 0'RIvi? ninoni nnnn' vt
7'NNNY YR .90 J10NY71 TIAY? 'NNNY1 yiXEn TIN%? 0'j'oon X7 0N NNonn
TIN%7? o'Mrony NN NNNNY 9Ty ,'NYT? .N2'Y' NTIAY IX DIIDON Y71 0'9Nivn 0N
[2 TIX O'WAID DX [NNNNYT X7 NNY7 "W T¥N .10 NTIAY DIpPNn 0'RY¥INIEN0'0NA1INA
.D'TTIA IR K71 TN NI'NY TN YNIFN2YN 70'RNNN AITN
ONINY DFTIN'YZN DI'0 MINK DT D'RIYAIY “INTRD [ATN "My T?
?7'wWx 720 D'RIWI 7Y DDNYT NN

7Y NIV X7 X' 72K ,9NIWN TN NIRY 1IINIX .07 'MINK DY 'N2Y 1YY VIavwa
2PN 7Y N0MN DR NNToN X7 OY9 NI YTNN DR N7 Y7 NATY K7 X' 07700
MIX NIAXY XR'DJIYYT 7 DyNon1 910 72 NIRXI'TE N0 RN 1YY NXN 1IN UKD N7
N7¥INN,'MINX N1'AN XD L,'NNNY? .NK 1TNY 112V7 nann wpa? 'monne D
MY X UKD UYINT7 K7 7TNUNYI T'TYA TN |17 N1 AToN 7V mw7 nntuani

(142 words)

[32 marks]
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or

Question
02.2

This is a possible response (indicative content):
.N20N NID'X DY NI'YA NN W' 7w 7'y .100'¥Ind NN X
D'N9] YNNWYN? DIPNA NDYTAN 7V NOWN DY7IT D'WIAR D ,0'701'71 Niainin
.0mr¥n
D'MIA DN ,9002 RN IR D'ANTAT WY N2N 00719 DRIYA NIANNDN "WYX
N7'7 w7 'y awinG yon wyan 07" NNNIRAN NIYYN TV Wyl NNy
DX .N"M710 NN Y2 70WUNA NIND WANWNT7 112'¥N NIYTIA DR 1'2an7 1Y
'77N7 DIPN2 OTIO TIY IWAY IX WA'N] WNNWNYT DOI7n1 1¥N2 N0 17N D'WIN
J71 071V 70 MY 1TV DTN I0N N7 ,DI'NN DX
NIND I'N' DX .N1I12N2 YI017 DIPNA 7202 NDY71 091X 7V 2017 7ThwX TNyl
ATNAN ,90112 .AVIAN 'PPO NIND DA 1I'N'E VRN DIN'T IR N'NS' 0T, D'W'A] NINIDN
.D'PIAA1 7'0079 ,DIN'Y L|IT NINRY
mwna q10n7 "1 NNIXD 72 IR N2OX N'ANN KYX TWRD
NINIPNA NOYKR 0D'7wN IN DIYYNY D'WIXRT? NI01R NNYT NdMX DMWY MyT?
.DTNNN X7W D'WIRYT IN DAY
D' IR D7 1PN D9Y DTY CTD D200 NIDX 7Y w7 awn

(153 words)

[32 marks]

or

Question
02.3

This is a possible response (indicative content):

LTIy NIV AT 7V DIF QMR

DN 7'¥N7 NI'NTIN N2 W' AT VIXZNL 'IXA VIXZNA DT ARIDIN VIXGN MyT?
.D'WIRT7 TV NI 21T 1910 NI QT 'RY QWIN X 0710 D'WAR 7V 90T

TV DY NN TINY77 1Y .NNNoNY yTin "X .21V N01dN DY VIXPN N7 90112

75 NnNNY% AR ,NDNRENIYE DTIAYN NIYY ,NTIAY 0721 YUK DA NTIAY DY my
2T NYR DT 72K ,0TINN NIFMY7 MY 12y 0T VIR 1INAY7 XN IR NNT

D'YUTN D'WIR WIAD7 011I1YN 0N . T'NY2 YIX? YINQ 2TIAY 7y 0avIing 0Nan o v
[DIXI DD DIYA "IX 72X ;)22 N7VINN DX ARINTDNIN AN IR DIYTN NI 10071
DNIX 2NIX IX 7'NNOYN NIX AITY? N¥IRY NN7 . TNy YIRY YiNd TIAy'7 n¥xX X7
7'NNRWI . TA7 NNniawn 07w%71 0NN DI KIXNY 108K L9011 TN DN'7XR YAYANNI
TIAY7 AINWI "IN DI2'07 .'RNXY NI'NYT 721X TMYAY T 0D JI0N7 N¥IX ,TIAYY

Inn'w *79 0N YIXRT? YIND NI NIR I'RWKRIE N'7218)

(151 words)
[32 marks]
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Question 03
The translation is assessed for Conveying key messages (6 marks) and Application of grammatical
knowledge of language and structures (6 marks) as specified in the criteria below. The maximum
mark is 12. When awarding the marks the student’s response across the passage should be
considered as a whole.
[12 marks]
Conveying key messages
Level | Marks | Response
6 6 All key messages are conveyed.
5 5 Nearly all key messages are conveyed.
4 4 Most key messages are conveyed.
3 3 Some key messages are conveyed.
2 2 Few key messages are conveyed.
1 1 Very few key messages are conveyed.
0 0 The content does not meet the standard required for Level 1 at this tier.
Application of grammatical knowledge of language and structures
Level | Marks | Response
6 6 Excellent knowledge of vocabulary and structures; virtually faultless.
5 5 Very good knowledge of vocabulary and structures; highly accurate.
4 4 Good knowledge of vocabulary and structures; generally accurate.
3 3 Reasonable knowledge of vocabulary and structures; more accurate than
inaccurate.
2 2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.
0 0 The language produced does not meet the standard required for Level 1 at this
tier.
Notes
A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key
messages mark does not limit the mark for Application of grammatical knowledge of language and
structures.
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Key messages

Message Accept Reject

1 | I'livein abig neighbourhood N71Ta MDY A X
2 | With many restaurants and NI'ANI NITYoN N211n oy

shops
3 | The synagogue is far 1NN No1N N1
4 | Therefore we need to walk a N2IN 7200 NOYY Y R Py

lot
5 | Last Sunday 71YY [IWXRY DI
6 | | watched afilm 0101 'M'oX
7 | At my friend’s house v 7ann 7w nna
8 | It was enjoyable nainn T
9 | Next weekend N2N YIAwsI10a
10 | My brother and | NI 7Y NX
11 | Will study for a maths test NP'oNNNA |N2NY? TN
12 | In the evening mipilal
13 | We will play on the AWUNN1 7Nl

computer

Other reasonable alternative translations will also be accepted.

A tick will be awarded for each key message that is communicated, despite any minor inaccuracies. The

total number of ticks awarded equates to a mark according to this table.

Total ticks Mark

13 6

11/12
8/9/10
5/6/7
3/4
1/2

= IN (W |~ O
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